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QUESTION 1
The file system supports batch creation.
A. TRUE B. FALSE

Correct Answer: A

QUESTION 2

Which of the following operations incurs charges?
A. Creating a subnet

B. Assigning an EIP

C. Creating a VPC

D. Creating a security group

Correct Answer: B

Reference: https://support.huaweicloud.com/intl/en-us/usermanual-eip/bandwidth_0003.html

QUESTION 3

Cloud hard drives support multiple backups per day.
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 4

Which of the following scenarios is suitable for object storage?
A. Archive

B. Static website hosting

C. Big data storage

D. The answer to the massive storage resource pool

Correct Answer: ABCD
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QUESTION 5

Traditional IT infrastructure architecture is already unable to support efficient enterprise operations. Which of the
following is not a key cause?

A. High TCO

B. Slow network rates

C. Slow service rollout and complex lifecycle management
D. I/0 bottlenecks restricting application performance

Correct Answer: C
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